There were 5 stockings hung on the fireplace.
Santa put 6 small toys in each stocking.
How many toys was that altogether?

Santa has 8 reindeer.

On Christmas Eve he gives each reindeer 6
red apples and 4 green apples as a treat.
How many apples does he need altogether?



Santa takes 5 elves with him to help on
Christmas Eve.

Children have left Santa a pack of 35 biscuits,
which he shares equally between the elves.
How many biscuits does each elf get?

There are 8 red stars, 4 gold stars and 6 silver
stars on Santa’s tree.

He gives one star to each of his 5 elves.

How many stars does he have left?




